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1|7 vyrF 2y kO ZFo0kAEHW(mg/L) 0.0002 0.02 mg/LUA T
2|l 7 v k O 2 o b A »W(mg/L) < 0.0002 0.002 mg/LLLTF (&)
3l=vy o7 v kO % o0 A W(mg/L) < 0.001 0.02 mg/LELF
411, 2 - v 7 v v = % »(mg/L) < 0.0004 0.004 mg/LLLF
511 b - > (mg/L) < 0.001 0.4 mg/LLLTF
6|7y (2-=F L ~F T )(mg/L) < 0.005 0.08 mg/LLL T
7\ 72 m e 7 b = FYU A(mg/L) < 0.001 0.01 mg/LEL T (B &)
8| K 7 z 5 — g (mg/L) 0.001 0.02 mg/LEA T (B &)
9 | 7% ¥ i) F(mg/L) 0.56 1 mg/LELF
WAy yh, <=7 3F2 7 LEWEE)(mg/ L) 23.2 10mg/LLL E100mg/LLA T
11 | i it % fig (mg/L) 4.3 20 mg/LLLF
2/1,1,1-FY2Z78nmx & >(mg/L) < 0.001 0.3 mg/LLATF
Bl{AF V-t -7 F > —F5 L(mg/L) < 0.001 0.02 mg/LLL T
U| A HEYWE(KMnO , #H#H E)(mg/L) 1.4 3 mg/LLLF
LR < % E (T O N ) 1 3LLF
16 | & B ) <0.1 1 LR
17 | p H fiE 6.96 7.5 FREE
B8lEg &M (5 v 71U 7 4 % )(mg/L) - 2.5 “IRREEDL BEL ., B TJ0ITE ST
19 | 7 & g = A (@ /mL) 0 2000 fE/mLLL T (B &)
2001, 1 - Y 7w xF L (mg/L) < 0.002 0.1 mg/LLLTF
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